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Force:F Force:F
Radial load: F,=0 Radial load: F,=0
Thrust load: F,=F Thrust load: F,=F
Tilt moment: M=0 Tilt moment: M=F xL

MAINTENANGE

The relubrication interval depends on the environment and the type of application. As standard the SKA RT bearing should be relubricated every 5000 hours of operation.

The grease quantity (grams) is calculated by this formula:
3720 X

Where X depending in which time the bearing reach 5000h of operation.

X weeks = 0.002 X months = 0.003 Xannual = 0.004 X two-year or three-year = 0.005

In case of 8 hours of operation per day, we have: 3720 * 0.005 = 19 grams

Relubrication must be applied using one of the two M6 radial holes on the front flange. The holes are closed by grub screw.
The operator must remove the grain, and apply a M6 Grease nipple (not provided). Once the grease is applied, the grease nipple must be removed, and the hole must be close again

with M6 grub screw.
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Output signals sine, 1Vpp
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Force:F

Radial load: F,=F
Thrust load: F,=0
Tilt moment: M=F xL
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Direct Signals
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N° of periods per revolution eriods/rev. 8192 16384 23040 32768

Divided Signals

A, B, Rl direct signal output without dividing factor

A’, B', RI": divided signal output




